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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

a6l Fohel 9] Ig (@A) & af 2015 F g qun af 2015 & =g
ufteher fafy # s it e Hifw | (150 wsai | I @)

Explain the difference between computing methodology of India’s Gross
Domestic Product (GDP) before the year 2015 and after the year 2015.

(Answer in 150 words)

Yt SSfe 1 USE F9e % WEH A= TS HIU | 3 ST weiel % WeeH! i
FHEEY | (150 wegi | I i)

Distinguish between Capital Budget and Revenue Budget. Explain the
components of both these Budgets. (Answer in 150 words)

W % H9 9 W yft gurl 3 dwia it @y feuel f arfes-anfie fafa &
U & fore fore wehr wemar it @ 2 (150 wisa] # I &)

How did land reforms in some parts of the country help to improve the
socio-economic conditions of marginal and small farmers ?

(Answer in 150 words)

A % S Gohe o qUIH #, GeA-fiers 8 iR few dm q gemes Bt 2
(150 wrsgi © 3o difdm)

How and to what extent would micro-irrigation help in solving India’s water
crisis ? (Answer in 150 words)

S-400 gaTg 1&n worehl, fava # 3@ www Suetsy o= fepdlt woneht Y qer § fRw
T B qehHIeh €9 & 953 R ? (150 wreal § IR Sif)

How is S-400 air defence system technically superior to any other system
presently available in the world ? (Answer in 150 words)

TS, 2021 ® @ H fava & Aaret & vt awem § e d. 26 g U
Seary giadd g e |, ey 6 8 Bfa fire ved w1 wiem T Fifvm |
IS R e (371E.uA.U.) # I8 fomm vgelt ar e o mam o 2

(150 31sa1 | I i)
Explain the purpose of the Green Grid Initiative launched at World Leaders

Summit of the COP26 UN Climate Change Conference in Glasgow in
November, 2021.

When was this idea first floated in the International Solar Alliance (ISA) ?
(Answer in 150 words)
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Q7. fava @ @e (Sseg.um.3il.) gl ' & § 9 feh U weifya afes 9y
i fenfraen (TR h.) % g fomgedt &1 avfa i | famma 2005 % srer @,
3 fopm wehm firmr & 2 5 wwfem ekl 1 9T F0 & o, wa % T wes ay
Hishd | foh aftadHt st ravrehar & 2 (150 wisai § 3w &)

Describe the key points of the revised Global Air Quality Guidelines (AQGs)
recently released by the World Health Organisation (WHO). How are these
different from its last update in 2005 ? What changes in India’s National Clean
Air Programme are required to achieve these revised standards ? 10

(Answer in 150 words)

Q8. FHF HE(Ud Hehei o foTT WRa 1 werar Y faaamn hifse | frset 6= gt §, wra
% faftm wrn & q@m g 3 ot e % 3o e fasivaet ¥ @y
S 1 (150 wredi # I difor)

Discuss about the vulnerability of India to earthquake related hazards. Give

examples including the salient features of major disasters caused by
earthquakes in different parts of India during the last three decades. 10

(Answer in 150 words)

Q9. == Fifsw & form wehr et senififerat ot dvdfiemo ot @ifen & arem #@
7 | U IR AU gFl Tl W o wifen o awEn @ fued % fau feu om
e U I foar @ aHemsT | (150 wsal | I difw)
Discuss how emerging technologies and globalisation contribute to money

laundering. Elaborate measures to tackle the problem of money laundering
both at national and international levels. (Answer in 150 words) 10

Q10. WRA F F=ARF & Hl FH H T@d gL, HW-IK § EH 1ot TIE g0l & I91E
F1 favewo fifse | @y &, 7 ofesha vl & favg wmers sl i ==t
sHifsw | (150 rsat & IR &)

Keeping in view India’s internal security, analyse the impact of cross-border
cyber attacks. Also discuss defensive measures against these sophisticated
attacks. (Answer in 150 words) 10

Q11. 1 A9 HeAd 7 fob WRdT srefegaean 3 8@ & § V-3ThR & GocdH 1 3HE
fohem 2 2 &1 |fga o194 IR H1 g Fhifse | (250 w=ai # I i)

Do you agree that the Indian economy has recently experienced V-shaped
recovery ? Give reasons in support of your answer. (Answer in 250 words) 15
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Q12.

Q13.

Q14.

Ql15.

Q16.

Q17.

“Hrorat wd wmmash onfde wafg & foru smenfte-sadwmn & faw srmevas 2 17
R gy & afdier ® fagsmn fifse | (250 weai § I dfSw)

“Investment in infrastructure is essential for more rapid and inclusive
economic growth.” Discuss in the light of India’s experience.
(Answer in 250 words)

Tsdty @ gean AfufrEm, 2013 H gea favard #n § 2 @ gean faugs 3 wrd
T @ qYT FUEU I G B | HT THR TERQT H 2 ? (250 weql H I i)
What are the salient features of the National Food Security Act, 2013 ? How

has the Food Security Bill helped in eliminating hunger and malnutrition in
India ? (Answer in 250 words)

s fafquar % gua diser gAifaat @ 8 2 3wt srenfifral waa fafaga & fog
fope e 37aEt Y el § 2 (250 wsal # I )

What are the present challenges before crop diversification ? How do emerging
technologies provide an opportunity for crop diversification ?
(Answer in 250 words)

YT gt § vy qur famm-wreedt svafert @ € 2 3 Iuafert qu
& e anf o I # forg TR wEres 2Rt 2 (250 wsat | IR i)

What are the research and developmental achievements in applied
biotechnology ? How will these achievements help to uplift the poorer sections
of the society ? (Answer in 250 words)

Ty 2014 # Wifaes fos & T9E QEEPR G ®9 A MM, HET qT ATHHU i
1990 % 23 # et ter.3.€1. & anfashr & forw @ fomen mm on | 3@ snfassw 3
a1 & edfed Sfied o1 fopm yepr wwifaa foham 2 2 (250 wisgi § 3w i)

The Nobel Prize in Physics of 2014 was jointly awarded to Akasaki, Amano and

Nakamura for the invention of Blue LEDs in 1990s. How has this invention
impacted the everyday life of human beings ? (Answer in 250 words)

T TS Tordry Iiada e e (.04.0%.  LH ) & Hendi. & 264 @1
% yg@ gl 1 9ol HIFFT | 38 e § aRd grn 6 T8 SeHegaTs @ 8 ?
(250 wrsei # 3w ifw)
Describe the major outcomes of the 26t session of the Conference of the
Parties (COP) to the United Nations Framework Convention on Climate

Change (UNFCCC). What are the commitments made by India in this
conference ? (Answer in 250 words)

HXS-G-GST 4

15

15

15

15

15

15



Q18.

Q19.

Q20.

ywged & faftm Fron st ywral &1 avly Hifve | o yooEem Sifen vege

wiHifd % HEwEyUl Tehi 1 oo HIFAT | (250 wedl # I )

Describe the various causes and the effects of landslides. Mention the

important components of the National Landslide Risk Management Strategy.
(Answer in 250 words)

WA IR G & o e T e sy ekl g sega sgsmm
et 1 fawerwo i | 37 dwel w1 geEen F0 F U savEs sunl 6 o
==t i | (250 wsgt | I Eifm)

Analyse the multidimensional challenges posed by external state and non-state

actors, to the internal security of India. Also discuss measures required to be
taken to combat these threats. (Answer in 250 words)

ATdeharg H Ffewrar 3 disrr, 38H HO, Gl qu1 AR TS H fvew

I | ATdHATE % TR H IEH & o I3 914 @l 39wt &1 ot gama A |
(250 1&gt ® I AfSw)

Analyse the complexity and intensity of terrorism, its causes, linkages and

obnoxious nexus. Also suggest measures required to be taken to eradicate the
menace of terrorism. (Answer in 250 words)
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